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Scale drawings word problems

a. Charles drew the scale of a building and its parking lot. He used the scale 100 inch : 8
feet. In the drawing, the parking lot is 500 inches long. What is the length of the
actual parking lot.

b. Mr. Freddy is an architect. He measured the length of the road and made a scale
drawing. 1 inch represents 30 miles in the scale of the drawing. If the length of the road
in real life is 600 miles, what is the length of the road in the drawing?

c. Peter is a very gifted artist. He designed a bridge in a drawing with a scale of 1inch
is to 25 miles. In the drawing, the length of the bridge is 20 inches, what is the length
of the bridge in real life?

d. Stellar won a contract to do a scale drawing of a market. In real life, a store in the market
is 60 feet long. If in the drawing it is 20 inches long, what is the scale of the drawing?

e. A landscape map has a scale of 1inch: 24 kilometers in a drawing. If two mountains
are 11 inches apart, how far are there apart in real life?

f. John measured a football court and did a scale drawing of it. In the drawing, the football
court is 52.5 centimeters long. In real life, it is 105 meters long. What scale did he use?

9. The scale drawing of a room is1cm: 3 m. If the room is 9 centimeters long, what is the
actual length of the room?

_h. The scale drawing of a park is 1inch: 5 yards. In the drawing, the park is 45 inches long.

How long is the actual park?

i. In a scale drawing, the length of a house is 9 cm. If the actual length of the house is
36 meters and the scale is 1 cm: v m, find the scale of the drawing.

Math-word problems.com
All rights reserved



h‘ I Math-wordproblems.com

Scale drawings word problems

a. Charles drew the scale of a building and its parking lot. He used the scale 100 inch : 8
feet. In the drawing, the parking lot is 500 inches long. What is the length of/the
actual parking lot.

Write the scale of the drawing as a fraction.
100 inch(in) is to 8 feet (ft) = 100in/8ft.
Use proportional releationship to solve this problem..
If100inisto8fit, | | | [ | | | | |
Then 500inis to | _500in x 8ft = =40ft |
100 in
Therefore, the actual parking lot is 40ft. |

b. :Théreforé, the :IethH of thé réad in:th_é dfavﬁingj is:20: incﬁhe:s.
c.I :Théreforé, tﬁe :Ien..gth. of thé b.rid.ge :in r:eal. Iifé is.ISOIO ﬁwilés.

L d, fhé séal_é of thé d:raWinQ is:1 mch s 3 feét.:

L e, .So,. thé tWo .mc:;un.taihs ére :26;4 k.ilor.net.ers; arﬁarf in:reél Iife.
f. __He:uséd a sé:.al.é of. 1 cﬁe_n:ti_rﬁe.tér: 2 rrﬂetérs.:

9. ISQ_,it_he .a;I:t.u;aI I_é_n_g:_t_hl_o_f the _r_o:oml__i_s :27 mé_te.fs_,_

_h. _So,__t he actual Ienét h of jt h_é_ park.is 225 yards..

i, So, the scale of the drawing is1¢cm:4 m. |
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